H £ 0l & AF & S

Al A

SA el
3 ROy Ho &2
ool QIE AMHIA ety (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
oIt 8,615,638 8,684,243 168,605
= 1,390,642 1,390,642 0
LS 595,839 575,839 20,000
= 6,629,157 6,717,762 88,605
FOly Ho| &2 163,517 164,179 A10,662
= 27,570 27,570 0
z 125,947 136,609 10,662
QI MblA ghat 163,517 164,179 10,662
= 27,570 27,570 0
z 125,947 136,609 A10,662
gel VY =23 78,353 81,353 3,000
201 Zer=2 Y| 42,873 45,873 3,000
2 =23l 17,786 20,786 3,000
O3 17,786 20,786 3,000
—HE3 228 €9573 gl
393, 7002 «8 5+ 12l 3,150 3,150 0
—&eA SIeH S22
2,130252x 122 128 128 0
— 1208 0P MIles
4,000 =2CH* 123 % % 0
—RRIALTI| RAE+SA(SHEE)
118, 7502 +80H 122 11,400 14,400 3,000
—201012LZI| =B MM A R
== 6,0002+8CH* 122 576 576 0
—Sgsgesl)l RNES
60,0002 3CH* 123 2,160 2,160 0
—RSE & oAET AUEX AL
o= 3,000&* 12 ¥ 6 0
-0 =2 ZH AdHY XA 2=
20,0002 122 240 240 0
AR CHZHl X2 46,328 53,990 AT ,662
= 10,000 10,000 0
= 36,328 43,990 NT7,662
101 Q144 40,128 44,190 N4,062
= 8,000 8,000 0
i 32,128 36,190 N4,062
0B SRA(RIIH ) 222+ 40,128 44,190 N4,062
ONgREd 878 22| 40,128 44,190 24,062
—Jl=2s 2,350,000 1812 28,200 30,618 A2,418
= 8,000 8,000 0
= 20,200 22,618 N2,418
—d0= 2,350,000 <23 *50% 2,350 2,552 A202
—I=E=g 0 1,200 21,200
-2l 2,350,000 +23| *60% 2,820 3,062 N242
34 H=FESS 4,200 7,800 3,600
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SA el
3 ROy Ho &2
ool QIE AMHIA ety (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
04 SRA(PIHL) 22X 2EH2FES S 4,200 7,800 3,600
O02YgR LY A AHEE
350,000 1 » 123 4,200 7,800 3,600
NHFE 22 418,847 422,025 3,178
= 4,630 4,630 0
i 414,217 417,39% A3,178
XXzl 75,847 79,025 A3,178
= 4,630 4,630 0
z .21 74,395 A3,178
INESEEE el 42,575 45,753 A3,178
201 Ler2aY| 37,775 40,953 N3,178
01 At22teltl 33,775 34,723 N948
OXNHZES X 228 EY 2
237,000 =2CH*20H 948 1,8% N948
2 =23l 4,000 6,230 22,230
OXHge SEE S 7¢
3002 *1,0000H 300 2,530 22,230
INESPA BN 991,392 1,108,892 A112,500
= 559,401 569,401 0
< 6,187 6,187 0
z 425,804 538,304 A112,500
KIHTHZE AL 991,392 1,108,892 A112,500
= 569,401 559,401 0
< 6,187 6,187 0
i 425,804 538,304 A112,500
NHTHZAALG =E(Z24H]) 363,272 475,772 A112,500
301 LetE2HZ 237,500 350,000 A112,500
BOBHEd= 237,500 350,000 A112,500
OXEMZEAL 283 K= 237,500 350,000 A112,500
EXNSEEE 274,431 283,502 29,071
= 42,918 42,918 0
= 14,600 14,600 0
= 216,913 225,984 29,071
Fsatac 121,626 130,697 29,071
= 42,918 42,918 0
= 78,708 87,779 A9,071
HEZAIXIOE BAF & 35,790 44,861 A9,071
201 Zer= Y| 31,910 40,981 29,071
01 At 2teltl 8,000 14,840 26,840
OSAIXDIb MHEEA K 2ETA 0 300 2300
Oog=es 45+ 0 6,540 26,540
2 s==3tl 23,910 26,141 A2,231
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SA AL
M EXNZEAEE
el fsdrael EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
OS=EXNE ALY & RSAUSESEAl
AE(KLIS & KRAS) B SXIE= 13,050 14,491 A1,441
OFSLUSTESRAIAL (KRAS) 24t SUEE
LDERN FANE= 8,510 9,300 AT0
A=Ay = 4,142,061 4,136,629 5,432
< 309,800 289,800 20,000
z 3,832,261 3,846,829 A 14,568
A=y =0 4,142,061 4,136,629 5,432
< 309,800 289,800 20,000
= 3,832,261 3,846,829 114,568
A=y A 32,210 46,778 /14,568
201 fer= 3| 28,250 41,018 N 12,768
01 At 2|l 24,590 37,358 N 12,768
OAMSSBALERA LU 2
210,500 %8421 17,682 29,470 A11,788
OXNZA=ARE ¢
70,0002 102 +23] 1,400 2,380 A980
202 Ot 3,960 5,760 21,800
01 2oL 3,960 5,760 21,800
OA=RDAESF Sl =0l
20,0003 6H 3112 3,960 5,760 21,800
SISHSEXE AIBAY 20,000 0 20,000
[ 20,000 0 20,000
402 QIZERHZ01H 20,000 0 20,000
< 20,000 0 20,000
02 QI T2 AL EE (01X THE) 20,000 0 20,000
Ost=sAH=XH 20,000 0 20,000
< 20,000 0 20,000
HRes (21 68,245 6.871 61,374
SFSUNES 68,245 6,871 61,374
BEXE 68,245 6,871 61,374
802 grat=JIE 68,245 6,871 61,374
01 =Ex3etE=a 54,629 0 54,629
020228 F=HSW XIFAYE =4 ZHTH Bt
& 50,576 50,576
O20228 =HS0 KZAE =H| OIXt+ BHe 2,550 0 2,550
O20228 sOE H0Hel F=SIHZALE =H| 0l
X Bt 232 0 232
O20228 IIE2HESARAE =Hl 2X223
ThoRBk 1,215 0 1,215
O20223 JI=EZHES AR XIZ 24| OIXtE
= 56 0 56
02 Al - SHIEXZEHEZ 13,616 6.871 6,745
Ontsslat & DS BZAY SH =
Tt BHEH (X2 =E) 34 0 K7
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